Task 10. The easiest optimization control problem
The state of the system is described by Cauchy problem 


We have the problem of the minimization of the functional
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Steps of the task:
1. Denote the concrete problem statement.
2. Determine the function H. 
3. Determine the adjoint equation with the final condition.
4. Find the control from the maximum principle.
5. Determine the iterative method for solving the necessary conditions of optimality.

Maximal mark for the task – 16 

Additional questions:
1. What is the difference between the problem of the calculus of variations and optimization control problem?
2. Why the maximum principle is easier extremum problem that the initial optimal control problem?
3. How many unknown functions do we have in the optimality conditions?
4. Why we cannot solve the state equation and the adjoint one at the same time?
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